UNCOMACH

Guaunuulaeawsy Arumwao




Applications:

220VI50Hz

J0W

12kpa

32kpa

60Limin | <40dB{A)

4.4kg | 217 x 166 x 181

220VI50Hz

48W

15kpa

38kpa

80L/min | <40dB(A)

55kg | 226 x 174 x 189

220V/50Hz

220V/50Hz

Bowy

15kpa

15kpa

A2kpa

45kpa

100LImin | <45dB{A)

120Limin | <45dB(A)

6.5kg | 238 x 186 x 200

6.8kp | 238 x 186 x 215

AC-60 AC-80 AC-100
Wimml| 166 174 186 186
Himm}| 181 186 200 200
Uimmj)| 196 204 216 216
Hi(mm)| 35 35 38 38
&{mm ) z 22 2z 22
8(mm) = 25 Fi] 25
m 18 18 18 ®

¥

L1

B

i




-

Applications:

Low frequency therapeutic equipment.

o -

Model

AC-150 220We0Hz 105w | 20kpa 45kpa | 1T0Umin | <4BdB(A) | T.0kg 238 x 186 x 216

AC-200 220V/E0Hz | 150W | 20kpa 48kpa | 200Umin | <48dB{A} = 10kg 276 x 205 x 238

220W/E0Hz 230W | 20kpa S0kpa | 280L/min | <43dB(A) 42.8kg | 297 x 232 x 249

220WIS0Hz | 300w | 20kpa 4Bkpa | 400U/min | <55dB[A) | 21kg 420 x 277 x 270

220%/50Hz 4200 | 20kpa S0kpa | S50L/min | <S55dB(A) @ 24kg 420 x 277 x 270

"""--E____ AC-150 AC-200 AC-280 AC-400 AC-550

Limm}) | 238 276 2497 420 420

Wimm)| 136 205 232 27 7

H{mm] | 200 238 232 7 7

5:"' uimm)| 26 | 256 | z7 | 392 | s
Wimm)| 38 37 37 48
Afmm}| 2z 20 20 8 28
E{mm)| 25 40 40 0 0
B 1
w B 20 20 32 32

I !
T



Stainless steel plusscrew M&*30
Inlet cover
Inlet cover futon

Inlet filter

Upper main body
Plus and pan-head screw M4-10
Spindle bracket cap

@ =~ & o A W M -

Spindle bracket cap futon

17 Plus and pan-head scraw
with washer M4-30

18 Air chamber futon

19 Air chamber cover

20 Plus screw with washer M4*25
21 Damping feet

22 Plus and pan-head
Full-thread scraw M5*98

23 Plus and pan-head
screw M4*10

24 Base dam

A&M
ENGINEERING

AND SUPPLY (THAILAND)

9 Nylon check nut M5
10 Spindle

14 Spindle support ring
12 Spindle bracket

13 Magnet base

14 Diaphragm

15 Diaphragm base

16 Air chamber

15 16}1? 1Ef19f20

25 Base futon

26 Base

27 Haxagon plus screw with
washer M5*15

28 Plus flangs screw M4*14
29 Feet

30 Wire wrap

31 Air chamber bent pipe
32 Base bant pipa

\, 083 536 9197
0963539197
M aandm.saleO1@gmail.com

@ www.aandmengineer.com
© A&M Engineer

85/6 Soi ladprao 94, Phlapphla Subdistrict, Wang Thonglang District Bangkok, Thailand 10310



